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8H1H E—<v RiE 100 14| 1,400 14| 1,400 0 0
EIEr N =) (A3 200 12| 2,400 5/ 1,000 7 1,400
ESPh S 350 49| 17,150 23| 8,050 26| 9,100
8A2H EIEr N =) (A3 200 5| 1,000 0 5| 1,000
FARE— f£= 200 24 4,800 4 800 20[ 4,000
8A3H ke S (A3 200 5| 1,000 0 5| 1,000
ES0oH Rt 350 13| 4,550 0 13| 4,550
8A7H ke S (A3 200 30[ 6,000 22| 4400 8| 1,600
8H8H EAE = N=) E= 200 55| 11,000 10| 2,000 45( 9,000
T AZ— EE 200 68| 13,600 24| 4,800 44| 8,800
FHK Fat 350 84| 29,400 31] 10,850 53| 18,550
K e e 350 27] 9,450 17[ 5,950 10/ 3,500
8H9H A=) EE 200 20| 4,000 20( 4,000 0 0
T AZ— EE 200| 108| 21,600 52| 10,400 56| 11,200
Ed—% fib ith 300 49| 14,700 20| 6,000 29| 8,700
=13 i ih 300 42| 12,600 14| 4,200 28| 8,400
8A10A |FikinES& = 200 45| 9,000 7| 1,400 38| 7,600
T AZ— EE 200| 123| 24,600 25| 5,000 98| 19,600
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Sl S g B 200 16] 3,200 0 16| 3,200
8H14H =K EEl 350 30| 10,500 17] 5,950 13| 4,550
Sl S 4 B 200 36| 7,200 30[ 6,000 6| 1,200
8A15H |S=k<h B 200 5/ 1,000 0 5/ 1,000
8H16H [¥XK e e 350 67| 23,450 0 67| 23,450
8H17H  |®AXE e 300 75| 22,500 42| 12,600 33] 9,900
Sl S g B 200/ 100 20,000 27| 5,400 73| 14,600
Ed—% fib ith 300 24| 7,200 0 24| 7,200
8A21H |E=k<hk B 200 74| 14,800 19| 3,800 55[ 11,000
hELTE Fx 200 17] 3,400 10| 2,000 7| 1,400
HHRONHE) | BH 450 74| 33,300 0 74| 33,300
8H230 |#HHR el 600 55 33,000 5| 3,000 50 30,000
FHRXF) e e 450 59| 26,550 32| 14,400 27[ 12,150
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hELTE B 200 35 7,000 23| 4,600 12| 2,400
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8A31H |S=k<k B 200 29[ 55800 18] 3,600 11] 2,200
FHR EE] 450 18] 8,100 0 18] 8,100
hELTE B 200 51[ 10,200 12| 2,400 39[ 75800
2 K(1.5) S 400 72| 28,800 30| 12,000 42| 16,800
&t 760,350 296,050 464,300




